


27. faww 2024 % fou fsm 2w 4 a7
| FEft, 2024 AuT B TER 2

(A) W& (B)- &9
(C) wmsftet (D)
Which country’s chairmanship has |
from January 1%, 2024 for BRICS 2

(A) India (B) Russia
(C) Brazil (D) Iran

ad 2016 # Freadt F o RBI (8
feordl &) & M # 9

(Ay . T T (B) = Ifa
(C) #ft wfwesia g/ (D) =T, . gea
Vho was the RBI (Reserve




f |21 qraig (NIA) «
17. R & g A ®1 I ' {A}Wg—.ﬂﬁﬁﬁﬂﬁﬂ
¥ T AT TR 2 T
(A)-m, e 3 dherfres wEdt (B) A T
(B) ﬂaﬁ~m3ﬂi ':ﬁrrﬁﬁmﬁ?ﬁ [(‘] qﬁw Qﬁ?ﬁ
(C) ke 3f TR “)]_Wﬁ%ﬁmm
(D) ardt afk Tede i FNIA
In Uttar Pradesh, the festival of "Kumhh_ Give full form O ;
Mela” is celebrated at the confluence of (A) National Incubation Agency
“'h:':};:"i"'”“ ? — (B) Naval Investigation Agency
(A) Ganga, Yamuna and mythica Saraswall 3 sl E
(B) Kaven, Sar;n-l: and  mythical (C) New Investlgal{un f\gencﬁ
Qaraswati ¥ (D) National Investigation Agency
(C) Narmada and Brahmaputra :
(D) Tapi and Narmada 22, TSRS EHTE HEd & H WHAa i
18. gﬂgﬁmﬁf-ﬁaﬁm( ) Freferfaa frpel & fow wma 3w 9F feo oo
& fowd Rw ¥ fore el wgr it o1 71 e § & 7
mmﬁﬁwga@f\.@mﬁwmi? f HA P
(A) $h (B) e (A) HTRIA 375
(C) e (D)-3am (B)* TR T
The Uttar Pradesh Financial Corporation ST
f'LﬁI;:PFC‘:J plays a key role in providing © form
ancial assistance for the devel Daﬁaﬁ'w
of which of the fﬂll-:)wing‘; SR ( ) L
(A) Agriculure  (B) Healtheare Which of the following is the name
X (©) gE;mﬁm (D) Industries the operation launched by the I[ndiz
19. 3% WeH ¥ 2Ha TP IuW Feferfaa evacuate Indian national from Israc
sfsafmiRmin 3 Hamas conflict zone ?
(A) TERFEH  (B) Ay (A) Operation Ajay
O %= D) (B) Operation G
The Dudhwa Nationa] ataga
Pradesh is located in ot it (©) Operation Vijay
(] 1 Kl;?m Pra ry (D) Operation Hot Pursuit
) Meerut yagraj 23, : o
2. mi,qa“;mmi:':hmmpu, T & § e 2023 8, wea S
e v o e o | TR B R anfe i e <
Frfefg - - 513
lhimﬁ!inqﬁ::g“mﬂﬂ't? (A) mca)ﬂmﬁ;_(ﬂq& :
(C)y AT sy ) HIFAATETE) s et (B)- =K
In 2006, the nomenc () Wregararg) (C) =g &
for United lature cha:"illl (D) e
{ 1 Q]mh“d hmuy in October 2023 yio g
m“hﬁ] o it Wis re an wh-iﬂh 4 r 2023, [ndid
Ea: iﬁm“-ll.hu I ' s m_h“mhnoishlbow gountry
(C) “"Hu,;";'_#“mcom}‘ Economic negotiations
(D) Humggio 1% Commissio Agreeme Snd Technology Coor”
F e Bticn (A) Moy (BTCA) ?
TNH"‘M‘ (D) Sri Lankd

g
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faferfiya 3 @ ¥ 3w AW v o et
e e gt srftrrtt 0
(A) o )

(B) (yferm a9 frfwe)

(C) T (s qfev ag)

(D) O

Which of the following is the highest—
ranking Police Officer in the State of
Uttar Pradesh ?

(A) DGP (Director General of Police) -
(B) PSI (Police Sub Inspector)

(C) ACP (Assistant Commissioner of

(D) DCP (Deputy Commissioner
issi f
Palice) :

-l_mu.ilihu et
wre faefty ad

14,

13

sEHE 3 # for aferf, gar sih
%o I Preafafaa § & feg 9 & 360

ik
(A) Bftpea (B) frefrmesn
(C) (D). Aidfweam

Growing vegetables, flowers and fruits
for commercial use is known as which of
the following 7

(A) Sericulture  (B) Pisciculture
(C) Viticulture (D) Horticulture

fr=fafea & @ yma % fam woTR +
"3 EIR 6 T F A E ot e o

(A) gud (B) Fifs
© wgmeR (D) Frer
‘Which of the following port of India is

:nﬂn as 'Queen of the Arabian




6. “Reh e W g e

sEw L
(A)- ST




TAA R ?
(A) T - TS (B) T - e
| @.““W (D) firfey - vy

"; ¥ W 1 v g
wie "

(B) ¥3
(D) &t

A T

p. PrerfefRees & & - o e g |47,

Preferfiara if & v ame  smem srs
(A) e 6} wg=1 et gt o oy |
(B)- vtw faref A der w2

(C) Tt qeevep ugeft B |

(D) Bt A geeras fird) |

‘et wreg # o e 8 0

(A)E (B) for

© ©)

(A) &9 + 7 (B) &+ ™

| ©wmem







68, ‘wpfee W @l w v R 0
(A) W (B)' W
(C) @ (D) &

. gamduih S Rmanwad?
(A) e st g 3R |

W
qmaﬁtmaﬁmwﬁhﬂ

IR @R |
O)¥f & moa dww IR F v @

TRYE ST |

‘g Frafefen 3 8 fref w2
(A) Wl (B) Hifeed

(C) T g (D) =TTNE
FoidmeEnfiFaRdR?
(A) T (B) #o%

(C) (D) GraTEeh
M o sz s Em i
m}-m

1

7. ??ﬂiﬂwﬁﬁﬁﬁmmmwﬁ
mm%!
Find the remainder when 17 is divided
by 4. '-t:‘
(A) ] B2, (©)3

c,yri 245

78. HTEA B 15+21i“tj9_ 2+5) 2
Simplify : 15+ 21 x (/92 +5)+2 1*-*
(A)I5 (B)63 (C)-18 (D)9l 3_,)‘ ;

79. TEATHA Bt : 31.004 - 493+n‘ms4-
76+03-2 >
Evaluate : 31.004 — 4.98 + 0.7034 —
76+03-2 ’
(A) 19.4274 (B)-17.4274 /' &

(C) 19.4173 (D) 17.4742 s %55

e
2 TemH! %1 HCF 11 8 3 371 LCM
609 2 | afe e @@y 77 R, & gl W
i Hif | wX = P

The HCF of two numbers is 11 and their
LCM is 609. -lfm'ot_,-‘ﬂwmhm is 77,




83. mﬁhihnﬁaéﬁmﬂ%sﬂtﬁm
1 4 % feam A %= fa | aww @™ A
vty s ife |

A vendor bought bananas at 6 for ¥ 10
and sold them at 4 for T 6. Find his gain

or loss percent.
(A)+10% &4/ gain (B) 10% &1/ loss
(C) 8% ®M/gain (D) 8% ®&H/loss

84. 9 o wrfts Res, 122 qmarm &I T3
el # 21 T 1,260 % w9 saw 2
annual instalment will discharge a

1",;}. debt i
e ol u{tl.zagmumsymatu%

(A) T325 (B)-T 375
(C) T425 (D) T 475

85, W 3w =EER A T 76,000 F FRW

)

88.

IJ. IZ, IS. ]Sl -

How many lerms
9, 12,15, 18, .coisin 877
(A)25 (B)2 (C)27 (D)28

_gradafEm

are there between

aﬁaﬂtqﬁnﬁszﬂﬂaﬂunﬁﬁiﬁﬁn‘t
o 7 aftra i, et &%

ﬁﬂ'mﬂthﬁeﬁtaﬁm#mtl

The . ﬂfmmIIBsECm
md%m?hdlhﬂpumﬂwofa&:ird
the difference

whose area is equal to
the areas of these two squares.
(A) 328fem  (B)- 36 &dt/em

(C) 4% fem (D) 48 ¥dft/cm

o et o Rt 1y & wrerd g v
T 15 e 3 o e & 1 g ) e

(e i) @

A man walking at the rate of 9 km/hr




92, e, adw i v o Mems w1 gro
¥ Ty el o e wen 4, 329 yigew
Daa el 9| o, arde ot wd o fremet
F T’ g ¥ M Aees W sl f
Fo e fea ot 0
Out of the total number of products sold
by company ‘T’ in March, April and
May together, 32% were made of mild
steel. What was the total number of mild
steel products sold by company ‘T’ in
March, April and May together ?

(A) 144 (B) 150
(C)-155 (D) 160

B wEEEE P, S IR T IR
e 1 shem wem w7 (@)

y ‘Hﬂllltlwu‘m‘h?ofmm
sold by company ‘P, 'S’ and ‘T’ in

_ February ? (Approximate)

(A) 112 (B) 116

_ﬂ'"‘ (D) 120 -
- am

P 3t
- 3

W*"

06, ur A7 atw = A Prer ¥ e gy =
wad) areef) oum A g R
wigth, nueftz, ur
Choose fhe Venn diagram which best
explains the relationship among given :
Boys, Athletes, Students
(Ay ® &
0@ 0@
97. TR I FATA HL I 39 A T
ﬁa’rﬁagﬁmﬁqmt:
Wcm X only gmﬂ:!
3t / English g .
, c-2ot12x2 1"
s Pdnbtelnt 2
. F + ) D+E+] =
|98, .




101, w& w1 @ e & né e e A
Frey ot o T ® A T R TR

Ham ?
Which one set of letters W hen
sequentially placed at the gaps In the

given letter series shall complete it ?
M.NO? MNNp RaNOgPMp OPf

(A) MPMOONP  (B) MPONONM
(C) MPOMONP (D) MPMONOP

102. R e fywedt # @ w vl e g A
S &I H |

Choose the correct alternative from given
ones that will complete the series.
£:513.51019024.5, 30,47)
(A¥35.5 (B)37.5 (C) 38

a
Mro or

(D) 41

103, A% R e d, 0w w- g fo
5% W1 fawed & w9 i 9w y=-
e # | R 9 3 g & e =
e HHHE HEY A |
ﬁﬂﬂﬂ.'l‘ﬂ;ﬂﬂ
(A) sfefa: 7sa  (B) fners - fran
(C) 2wt : 2 (D) How : R
lqme%m below, a pair of words is
given, followed by four pairs of words as
alternatives. You are required to choose
the pair in which the words bear the

106.

107.

3 qd it 3t 10 foeft e 2,
6 fepdt =reTan AL TR L
e & Al 15 fapeft <reren #, 6T 2 g3
% 3 6 foreht weren #, foee amd g 2 o
| Faefy reren & | 7 safE A9 w1 A fat

v st B

ﬁmaﬂfq;ﬁ]?}ﬁ".ﬁ

ZhmR?
(A) 16 foedft (B)- 6 fesedt
(c) 25 feredt (D) 12 Tt

A person moves from home position
towards east bg' 10 km, then turns right
and moves by 6 km, again turns right and
moves by 15 km, again turns right and
moves by 6 km, then tumns left and
moves by 1 km. How far the person 1s
from home position ?

(A) 16 km (B) 6km
(C) 25km (D) 12 km

*glﬁﬁ“ﬁ_ﬂﬂgmiﬂ;%himm
1 3% 11 Fwifsa 2 gromd Y
ma\tﬁﬁmﬂmw;ﬁan
w1 & 3R Pl S & o @t ot wwon
ECh 2.

HU T T g 5 A1 T |
qRmd

L il g ot
i:.ﬂ;ngﬂwﬁfhgmam%

same relationship, T % for wfne 2 |
Apostate : Religion (A) %=t arom | yafifea d |
(A) Potentate : Kingdom (B)- %=t wroom 11 siafifea ? |
{g}.Tthn:Edlmm (C) =t 13 1 Fafifea d |
H }':;ulfwmw (D) A8 1 3R 76 11 il 2 |
Ao sl B i [r:““ll\r“ l;estin;\ulgciow._ a  statement
104, :WﬁFG::bWRN {7 1 and 11 is given. Y:um l\?cnsmn?;‘nbsﬁﬁ
(A) CQWTP (B) CPWSP mm‘mwt and the following
(C) DPWSP b s pﬂmi‘md &gf-i:nmwmch of the
= S tht‘lnn t"'= One mﬂ;hitemcm d
MM MMihﬁﬁgﬂ? - a tree at might, eep under
nany triangles H
B Mare {n the b P"hmflﬂlumnuyspuiluur
u» “" llm u‘u‘ - a
N _ C) Eith s umption I is implicit,
o ()30 ther L or 11 is implicit.
£33 G 7 D) Nllthulmrlliurmplicn_

A L AT e

b —— e s




108. 1< R e we F v wua otk 3ud anz |
I, [0 3R 1V wwifda an ok mive § |
IR TR 7Y wE R el q1/a wdh
TogE 7% R/ o W w/R e
a6 8/8 3t T vt & MR o m
fareeal # & s e

®E: W oot e Rewl w9 foh
T 2 B U Ry s snfie 9
w

L T | I e v W el H
Tastosn @ sfen wandh |

0. & % = Wem R-fa =i &
Y 3 R S T weE 3T
T E ST E |

m. & | ™ w5 § o it e &
quREm |

V. & | 37 = forel &1 Jaq gt 2 |

(A) 9 [V Toq@ & |

(B) 3% Il g 2 |

(C)- % 11 3¢ [1] o # |

(D) %% 1 3 |V worga § |
stion gfn;;.-n :‘c]l;\; f:onsists of a

Stﬂmmn. Dlow ur

numbered 1, [1, 111 and IV. vmi":'i

which of the argument(s) is/are
Srong  argument(s) and which is/are

weak’  argument(s) and according

choose your answer from the altnm.ti\rg

&ven below the question :

Statement : Should al) the school
leachers be debarred from Biving
Private tuitions 7

Arguments :

L :;nm u;udymdmuwililmbe
wved of the expertise of these
leachers

U. Yes. This is an injustics to the
educated who

(M. &, 1098 113 = GUCGREICE 1R ZZ | EUE LS

| 3% s At fe e o g & e

framl %) Y wie & oo xvz & 2m 7 10

=i it gar e ) o Preafeafga # -

frams

(a) o 9 = A w5y ol v v yifty #ft =nfir |
(b) =1 ¥ &0 ¥ 8 o o garfedes 2 o amw s i |
(c) | Tamr, 2005 % 50 =k & 3t 3w wen =i |

(d) =1 e @ rd swmrn snga o ff g =i

(€) ST WA B U ST T W o wan g
ifi |

4 vt & vy 3 it e et el i m e B, e

I+ I (a) 4, A oft % v w2 4 v A
st Bue I3 § mam R A owmen S &
T B W AR |

. R ()%, oA &% 8§ h snasg 4 v &
Fﬁﬁrmﬁ,ﬁ?ﬂmiﬂ?fﬁmaﬁﬁmmﬁ |

:ﬁéﬁqwﬂﬁ&smﬁwﬁmmﬁﬁﬁam

R | SN TS TS § wer ) T S

"

i, 2005 41 Ry & s e M # |

Q-Nulﬂ!mllli:ﬂmdyﬂwmﬂam' information
carefully and answer the questions given below -
it e e s f ganiog dnce i £ 10
i .
a it five acres of ¢ land.

gh) hﬂabmﬁmﬂﬂﬂﬂ%t!%
€) mﬁmtﬁmmmuﬂum 1" December.

(@ ?ﬁmﬁ-ﬁwwmmmm

(e) be able o :
" thov Tl s S e

nd, the case is o be

I ._ « :-




can produce collateral of T 8 lakhs. He
was bom on 4% July, 1955, He doesn’t
have any ing loan from the bank.
(A) Advance is not to be granted.

(B) Case is to be referred 10 the General
Manager of the bank.

(C) Data i5 not ;
m‘midul. adequate to
(D) Advance is 10 be granted.

e, e = Hn, 1956 1 g o1 |

w4 3 wratl, 1956 & B
g v o
i i ST g 0 R T
et o lf B 1 9 10 wTE & Hw
ﬂﬂmﬁmﬁﬁlmm‘! Echk e X
ﬁmﬂ{ﬂ)ﬂﬂﬁl
(A SHfore el e o ST |
(B) i e feem A |
(©) oy e 3 HETHEY W) S A
(D) ST & 3 S il WA A |
Vinod Rai was bomn on 3™ February,
1956. He has six acres of cultivable land.
He has submitted a recommendation
letter issued by the Panchayat Pradhan
He can pledge collateral more than ? |0
mﬂgﬁm‘thﬂmy unpaid loan
(A) Advance not to be granted.
(B) Advance to be granted. ﬁ
(C) Case to be referred to Gener
@._Mw@m

1A &l




13, ¥0RF T & W v vy Fhar iy

|

i

R | SRR TR W A SrviE e
O B S O T e—
(o) T R | v o7 o ifn @) et
Im & | 78 ¢ 6 W A e wwiew
e U E |

(A 3t 7 s fovan e |

(B) fim wem faan wmom |

1 QR L ST S —
{l ) TR

- el e 3 1as
b s - ‘
.
-
VA
> ]

) R RD s ke e




116.

117.

A

EJ-2

¥ g gl & &1 1 A R
aifds wq # HaeAvite 6 W 1| WEh

(C) TR v wify # anfre w@ &
s & G ar e |

D) T % T & Fas freanfeal
! [

You are stationed as a police officer; riols

crupt in a religiously sensitive locality

requiring reinforcement. You should :

{A) order lathi charge if groups pelt
stones violating restrictions.

(B) fire tear gas shells to forcibly disrupt
violent mobs.

(C) work with community elders to
appeal for peace and calm.

(D) conduct preventive amrests of past
troublemakers.

mwagmmma;ﬂmﬂmﬁ:
. i &
L @ﬂimﬁmgﬂm —
i;’-hﬁmaifm
(B) &
iaheidh b, S S
.lihl

(€At 3 v o e s s
() 78 Hen i & o it
) 6w 8 e e iy |
You are m.‘m )
prevent fmmﬂw m-_ﬂ‘l‘_lim
thefts from hospitals, you should . baby

(A) impose restrictions we b

maternity Wands

(B) intercep! phane calls of decas
wraffickers for lesds of detained

(C) analyse CCTV foods Atoun: r' .

room entry and exits

deploy u
(D) P10 s a progaantdosoye

o e

{ﬁlﬂﬂﬂﬁftﬁﬂ?ﬁimw&zﬁ;
mﬁgmﬁmmmm&q.

@)-shEma % e e T=
e |

(C) Fm F THER TR @ fEd oA
o o feasigd @ g2 7 e |

(D) T S % faems w2 A
T TRTE ) o e = |

You are an lﬂvming Officer: a riot
ider requests charges

g ing & promotion. You
should

(A) 'm.ww B it -




122w i sl % ® #, AT
mﬂ% e & faens SR
Qa1 3w ge e & Em
FE TR | :
mhﬁiﬂmmﬂaﬁﬁmﬁ%m&m
FrE w1 wE =R, |
miaii%uﬂﬂhmﬂiztmﬁﬁwm
s Pt = R S =R |

(D) T et w0 % o g e §
Ty e SR HT T |
As a police officer, you face protesis
alleging profiling bias against a minority
community. You should :
(A) enhance surveillance measures 10
prevent subversive threats.
(B) acknowledge concems by reviewing
statistical arrest data trends.
(C) organize community discussions to
wimhmnuﬁmw.
(D) implement diversity quotas in field
force to showcase inclusiveness.
123, v Tfom Ffewd % w0 §, s we i
3 et afeen 1 v
wk Lol S
(A) 78 F o A ¥

124.

125.

126.

© WA
) sk e

u qferd ifrrt & w9 8, 7 g ¥
ot R o e T A R
m}-nnﬁﬁaﬂimmm% I
(B) FIfRET A 1 I |

(C) TE A 1 W 2 |

(D) %1 < Ha e 1 I

As a police officer, the primary reason
I chose this profession is :

(A) The power and authority it provides.
(B) The excitement of catching criminals.
(C) The job security it offers.

(D) The opportunity to serve the nation.

mﬁamﬁwﬂ#mﬂ.m«ﬂm

= w t& = e f9u 9 AEEE

2 | wd Fan & Ju-Frlee & forg

‘:rnﬁlh'ﬂ 2w m gh T v o

2

(A) wimm  (B)e3 fEr

(€ dmfmr (D) iR

As a police officer, you are required to

wear a rank insignia on your uniform.

Which of the following is the correct

rank insignia for a Sub-Inspector in the

Indian Police Service ?

(A) One star (B) Two stars

(C) Three stars (D) Four stars

o *W;: #, am i
g w

b AR e e

m}"mmﬁ!ﬁdmx‘i




119, 319 TH TEETHT B % U R Que &
ates wwr e & | sy 1 a o s
SqEen T W A syt @) Y %
e &8 dem W @ ¥ | e, 3w
SRS HRO R, S e qfera g
§ wEiahs W s @ wwt s
AT VA8 1 V6T e ot fradl )
A 1 WA R | I wmer & g
3o e 3N srqvE B w= @ 2 | amge

(B) THTERY $I T TN 3% F &7
A SR F 1R iR T d A
vifeen am &t 3afie s =1ee |

(© R 3 v ¥ s wEimT
T % foe oy (§F3r9) 3k
T F1 I T iR |

D)7 Y= s wifge 3k

. UEEE YEE § S s et

F1 Hie =rfen |
You are a senior inspector in-charge of a
police station in a metropolitan city, You
have been working hard to maintain Jaw
&nd order ang prevent crimes in your
dreg. However, due to some
administrayjye reasons, you . are
ansferred 15 4 traffic police unit where
You have 1o manage the traffic flow and
ﬁkrﬂn rules. You feel that this is a
01 your skills and experience. Yo

should - p ¥

(A) protess against the wansfer and
demand 1o be reinstated in your
B Previous role,
B) sccept the wansfer as o Lemporary
r “thack and hope to get & beiter
POsling soop,
) *ﬁe}'winﬂunmmeanmw;n
8 lavourable transfer to another unit,
D) adapt 10 the new role and lesm the
Skills and challenges of traffic
i-..‘__mm""""aemem,

120, Wy faeple we 6 w@ g9m, 39w

121.

Maasifers soRes & &9 ° s f?ﬁ'

T e e aiEEE FiE fﬂ_'FTT 2| "H_ REZ

(A Sriferat % Frarer &+ Sgors 7 @t v
CATT TR g 9 T EeA TR |

(B) ¥8 112 %43 F &4 % 3iex v =faw
it feremre & % s mfa 121 )

(C) TA-wfee zmaril o1 3w e Hafem
& TES g et fRufy B e o

LMl "
(D) 9u% @iy % fom gaat fom =1 i
9 fawt =1 srem ¢ T arfen |

When examining a bombed explosion site,

you find a damaged mobile phone potentially

used as timed detonator. You should :

(A) wrap it in paper ensuring no
fingerprints disturbed.

(B) place it inside thick cloth bag
ensuring no further blast damage.

(C) phu_mgragh original  explosion
position before handling, using anti—
static gloves.

(D) first dismantle parts like SIM card
and battery for separate evidence,

'-""'-'H*Muq-mg-m. AT P




#
ﬁﬂaﬁmﬁl feraaon

o1 5 9 e R & s @z M
FRAGEEAR |

£: ¥ o T & 5 e 78R woEAw -

Mtl Mg‘qg,ﬂ\

#: SRS g S & g wEara
ART B 2 3 37 =R o ard
Rdiwo sws e

"

faerdt it off awm @
1

(e e
(B e P 11 g e |

FAE
|




134, v i ) Ao i 2 W w ae R
!unﬂiﬂﬂﬁqmtﬁﬁmm‘?
ﬁuﬂﬁ%‘ﬂ‘iﬁiﬁ{thﬁiﬁq‘lm@fﬂ?
An mwec]mkm'slochckm“ﬂm
afternoon. Through how many degrees
ﬂtmhmdnm“mzcbckdnr
6 o clock in the evening on the same
CA)120° (B) 128° (C) 130° (DpI3

139, q:a:rmtfmﬁmn;x}:_m‘-ra

m-i-nliimwfﬁﬂtn a1
o # | 3 WA 4 x 3 # famfa o
ey o 1t e & | 31T 3 x 3 % Pada
wem st Aoy | 3@ T |
BI2 U1 5 e 21 B 1T w7

There is a cuboid whose dimensions are
4 x3 x 3 cm. The Wﬁe R of
St S # 88 tolowsd yellow
mmhﬂm dimensions
92 = edkaead ed. The opposic




127. YT (7) & 0 9 3ges ey |
greaa-faws . d
(A) usft (B) W
(C) &R (D) sy

Find suitable alternative in place of
guestion mark (7)

#re-famm ()

Botany : Plants : : Entomology : (7)
(A) Birds (B) Plants
(C) Insects (D) Snakes

Refeten v d 5oy R | 3
R 1 8ig5 5 gmr= fdrand § |
Il 7 8 e B ek |

(A) ¥ (B) T&

(C) = (D)™

In the following question, some words
are given. They have some common

features except the odd one. You are
required to find odd one out.

(A) River (B) Canal
(C) Stream (D) Pond

- R m it & 3w e
T8 % qu w0y e

128,

Choose the correct alternative from given
ones that will complete the series :

15,8, 35, 24,63, 48, (7)
- (A) 58 (B) 92
b 1) 99 (D) 102

FEE B g w6, CZEBRA" W)

WBYAS" & wq # et e #
B 4 “TORCH" %0 @ fevn smam 7

28 cerain code lunguage, “ZEBRA” is

okd a5 “WBYAJ. How will
be written in that same code ?
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132.
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R, Tt &m0 ard st ey & 3t 2 fad
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(A) afto.qd (B)» Fe-afray

(C) yfeam (D) F&7

Kabir moves 8 km from East to West
direction, then he turns to his right and
moves 2 km. Again he tumns to his right
and moves 5 km. In which direction is he
from his starting point ?

(A) South-East (B) North-West A
(C) West (D) North A

witer, o 6t wndt & |, ofy 5w 2 |3L.
T ®oofi e @ 1 d, ek
RIS IR IR AR S I g o —
Hafm 2

(A)yam (B)emg

(C) et (D) &&

Sheela is Ravi's sister-in-law. Ram is
Ravi's brother. Ram's wife is Sheela.
Deepa is Ravi's sister. Deepa's mother is
Shanti, How is Sheela related to Shanti 2
(A) Mother-in-law

(B) Daughter-in-law o 1{
(C) Grand e
(D) muahdtmtl ane® 0 Y
'&m"&zﬁrﬁ "8 R, o o F Y
M st - aﬁaﬁ ﬂﬁiﬁ:‘mﬁﬂ 1
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G word “SKEPTICAL", thira, © |
TS are to their :f. o
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Choose the alternative which closely j. s 2. g C -
resembles the mirror image of the given 3, e faeT 4 frem
combination. 5. =l

aa - »
::r TNEMEGDUJ TR Which of the following option would be

(B THAMIDAUL meaningfiil order of the following words

(C) THAMIAGAUL 1. Doctor 2. Fever

(D) LIaDAMIAT 3. Prescribe 4, Diagnose
144, T = B s () # Rg e el @ 5. Medicine

(1, (), 3) 3 (4) 7 & B (A)2,1,3,4,5 (B) 2,3,5.4.1

SR EEag | (C):2,4,3,5.1 (D) 21,435
Find out which of the figures (1),

and (4) canbe formed.from the sieces. | 148 TEITHRIG I F A e # |
: Choose the figure which s differert o
the rest.
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